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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-9 0
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P3-9

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R
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P3-9
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P3-9

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

06:25 283 150. 0 28. 875 FA| 1BRi%@06:25 B3h (kAR
07:05 283 150.0 28. 875 BH| 1Bi&@07:05 Bzh (RAERE)
07:45 283 150.0 28. 875 FA| 1BRi&@07:45 B3zh (KRAEREE)
08:55 283 150. 0 28. 875 FA| 1Ezi%@08:55 B3h (kA{EREEE)
10:05 283 150.0 28. 875 FH| 1BRi&@10:05 Bzh (RAERE)
10:55 283 150. 0 28. 875 FA| 1BRi%@10:55 B3h (RAERSE)
11:35 283 150.0 28. 875 FR| {Ri%@11:35 Bz (GRAERESE)
12:10 283 150.0 28. 875 FA| 1BRi%@12:10 Bzh (GRABERSE)
12:45 283 150.0 28.875 FE| 1BRi&e@12:45 Bzh (GRAEREE)
13:20 283 150.0 28. 875 FA| {Ri%@13:20 Bz (GRAERE)
14:10 283 150.0 28. 875 FA| 1B2i%@14:10 Bzh (RAEREE)
15:15 283 150.0 28. 875 FA| 1BRi%@15:15 Bzh (RAERSE)
16:30 283 150.0 28.875 FA| 1BRi%@16:30 B3h (KAEREEE)
23t 3679.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

[o{&REC 6380.0 K5, EiNF{RKECAE&HRER

#[ERECE (2220.0 vs 6380.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1000 —@— PPFD_obs

P3-9_0, Day=58 (2025-05-30)

150 A

100 A

50

150 -

100 A

[S3)
o
1

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2300 2208
698 1700 189847

40 20
Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

T
—_
o
o
o

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

400

]
Bylnit @60 01:55: ET=2496 Fg=3000.0 Ro=604.0

4000

- 3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

— — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
2| %s| B i 5 5 5 i 5 5 G A B 5 5 A B B B G B B B G

4000

200 -

) o—0—0—0—0— i T—
T S — — — —"

ByEt @D58 16:09: ET=1717 Fg=1800.0 Ro=nan

A

P 1

- 3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

4000

400

55| %=(%=| BB | BB | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BA | B8 | BB | BB | = | =[S KA

200 -

1.0

]
ByWon:@DGO 01:55: ET=1647 Fg=1950.0 Ro=353.0

A

) —o—B—0—0—0—

- 3000

- 2000

- 1000

0.8

0.6

0.4+

0.2~

55| %=(%=| BB | B | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BB | B8 | BB | BB |B=|E= (5= KA

0.0

80 A

60 -

40 -

[ ] | _obs

—— RH
o RH_obs
RHo_obs

W ® VP

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=460, FV0=0 m=530, FV0=0

—o— ME 52.0 - —— ME{ 50 —o— ME
50 4
51 5 51.5 -
49 - 51.0 +
51.0 -
50.5 -
48 1
90.5 1 50. 0 -
47 A 50.0 - 49.5 -

T T T T T T T T T T T T
600 800 1000 420 425 430 460 465 470 530 535 540
m=595,m FV0=0 m=645,m FV0=0 m=690,m FV0=0 m=725,m FV0=0

52.51 52.5
—e— ME —o— ME —o— ME : —o— ME
52.0 - |
52.0 59 0
51.5 - 51.5 - 51.5 -
51.0 1 51.01 51.0
50. 5 - 50.5 1 50. 5
50.0 1 %097 50. 0 -
T T T T T 49 5 B T T T T T T
600 605 645 650 655 690 695 700 725 730 735
m=760,m FV0=0 m=795,m FV0=0 m=835,m FV0=0 m=885,m FV0=0
53.0 -
—o— ME —e— ME | 530- —— WE{ ., —o— ME
52.5 1 '
52.5 -
6 0 52.5 -
' 52.0 -
52.0 -
51.5 - 51 5 -
51.0 1 51.0 - 51.51
50.5 - 50. 5 - 51.0 -
765 770 795 800 805 835 840 845 885 890 895
m=955,m FV0=0 m m=420,m FV0=0 m=460,m FV0=0
—o— ME —— MW —— MW 41.5 - —— MW
42 4 29
41.0 -
40 ~ 38 - 40.5 +
s - 40.0 -
37 1
39.5 -
T T 36 ] T T T T T T T T T T
960 965 400 600 800 1000 420 425 430 460 465 470



42.

41,

41.

40.

40.

39.

42.

42.

41.

41.

40.

40.

42.

42,

41.

41,

40.

m=530, FV0=0

—— MW

530

5é5 5&0
m=725,n FV0=0

—— MW

725

750 755
m=885,n FV0=0

—— MW

885

890 895

42.

41.

41.

40.

40.

39.

42.

42.

41.

41.

40.

40.

42.

42.

41.

41.

40.

40.

m=595, FV0=0

—0O—

M_w

595

660 665
m=760,n FV0=0

——

M_W

760

7é5 7%0
m=955,n FV0=0

—— MW

955

960 965

42,

41.

41,

40.

40.

39.

42.

42.

41.

41.

40.

m=645, FV0=0

—O—

M_W

645

660 6%5
m=795,n FV0=0

——

M_W

795

800 805

42.

41.

41,

40.

40.

39.

42,

42.

41,

41.

40.

m=690, FV0=0

—0— MW
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T T
695 700

m=835,m FV0=0

—o— MW

835

840 845
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P3-9

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:55 283 150.0 28. 875 = {RRi8006:55 BHzh (RAEESE)
07:30 283 150.0 28. 875 = {RRiB007:30 B (RFAEEE)
08:40 283 150.0 28. 875 = {RRi1B008:40 Bz (RFAKEE)
09:35 283 150.0 28.875 (2 =| 1Ri&@09:35 Bzt (RAKEE)
10:15 283 150.0 28.875 (& =| 1Rig@10:15 Bz (GRAERSE)
10:50 283 150.0 28.875 (£ =| 1RiB@10:50 Bzh (REAKEE)
11:25 283 150. 0 28.875 |2 =| 1Rige11:25 Bz (REAERESE)
12:05 283 150.0 28.875 |Z=| 1Ri&e12:05 Bzl (GRAEEE)
12:35 283 150. 0 28.875 | =| 1Ri®e12:35 Bz (REAKEE)
13:10 283 150.0 28. 875 =l BRiBe13:10 B (GREAERESE)
13:40 283 150.0 28.875 F BRige13:40 Bz CGRAERESE)
14:10 283 150. 0 28. 875 =l RiB014:10 Bz (REAKEE)
14:40 283 150.0 28. 875 =l RiB014:40 Bz (REAEESE)
15:15 283 150.0 28. 875 F BRige15:15 Bz CGRAERESE)
15:55 283 150. 0 28. 875 = RRiBe15:55 B (REAEEE)
16:50 283 150.0 28.875 (£ =| 1RiB@16:50 Hzh (RAKEE)
21t 4528.0 (16)%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

E&KEC 6447.0 K&, EiFAKECAE & mERR

HEEIRECE (2323.0 vs 6447.0) 05



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=57 (2025-05-29)

150 e/ F———1]
VI, V0. FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2944 | 3000
2576
2300 400

100 42100 069
795 - 2000

50 - 1000
60 Warning: lcol [FVI',| "FVO’'] missing

40

-0
#5905

N
o
o o
L |

150 - - 50.0

100 A - 47.5

[S3)
o
1

- 45.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 - 4000
Bylnit:@DﬁO 01:55: ET=2160 Fg=2700.0 Ro=537.0 t

400 1 ! L 3000
1
: - 2000
200 - 1
1
1 - 1000
1
0 ! L 2 2000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
400 i 5 5 i 5 5 5 5 5 5 G A B B 5 A B B B G B B B G
1 - 3000
ByEt @D57 19:10: ET=2258 Fg=2400. 0 Ro=nan .:
- 2000
200 ~
- 1000
0 —ap ‘. 2000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
400 i | B | B | B | KB | B|B|B| B |[Z2c|25|25|%25] B 5 | B |25 B [A FH [H [H EIRERS
1 - 3000
ByWoFV:@DGO 01:55: ET=2069 Fg=2400.0 Ro=470.0
: - 2000
200 - 1
1
1 - 1000
1
— e
1.0 — ‘L 0

ool BB | B | % | & | % | % | % | % (2222122122 B | % | % 22 W (W | W WM %F (2=

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

80

60 -

RH
401 @ RH obs
RHo _obs

FRV (ml d-1)

_E

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



52.

52.

51.

51.

50.

53.

53.

52.

52.

51.

T T T
600 800 1000

400
m=600,m FV0=0
51 1
—e— ME
50
49 -
48
600 605 610
m=740,m FV0=0
—o— ME
5_
0_
5_
0_
5_
740 745 750
m=860,m FV0=0
5
—e— ME
0_
5_
0_
5_

865 870

51.

51.

50.

50.

49.

49.

48.

53.

52.

52.

51.

51.

50.

53.

53.

52.

52.

51.

51.

m=435, FV0=0

48 -

47 4

46 -

45 A

44 -

M_E

T T
435 440 445

m=635,m FV0=0

—0— ME

6&0 6&5
m=770,n FV0=0

—o— ME

7%5 7é0
m=895,n FV0=0

770

-o— ME

%
7
i

895 900 905

49.

48.

48.

47.

52.

51.

51.

50.

50.

49.

53.

52.

52.

51.

51.

53.

53.

52.

52.

51.

51.

m=475, FV0=0

M_E

4é0 4é5
m=670,n FV0=0

475

—o— ME

6;5 GéO
m=800,n FV0=0

—o— ME

i

865 8%0
m=935,n FV0=0

-o— M_E

940 945

50.

49.

49.

48.

48.

47.

52.

52.

51.

51.

50.

50.

53.

52.

52.

51.

51.

53.

53.

52.

52.

51.

m=540, FV0=0

0_

M_E

5&5 560
m=705,n FV0=0

5 4

0_

—o— M_E

il

7%0 7%5
m=830,n FV0=0

—o— M_E

8é5 8&0
m=975,n FV0=0

830

—o— M_E

975 980 985




53.

53.

52.

52.

51.

41.

40.

40.

39.

39.

38.

42.

42.

41.

41.

40.

43.

42.

42.

41.

41.

5_

m=1040, FV0=0

—0— ME

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050. 0 1052.5
m=540,m FV0=0

—— MW

5&5 5%0
m=705,n FV0=0

—— MW

7

7%0 7%5
m=830,n FV0=0

705

-— MW

i
i
i

830 835 840

42 4

40 -

41.

40.

40.

39.

39.

38.

38.

42.

42.

41.

41.

40.

43.

42.

42.

41.

41.

38

36

34 -

T T T
400 600 800 1000

m=600,m FV0=0

0 1

—o— MW

665 GiO
m=740,n FV0=0

—o— MW

7&5 750
m=860,n FV0=0

740

-o— MW

860 865 870

37.

36.

36.

35.

35.

34.

41.

41.

40.

40.

39.

42.

42.

41.

41,

43.

43.

42.

42.

41.

41.

m=435, FV0=0

M_W

440 445
m=635,m FV0=0

435

—— MW

GAO 6&5
m=770,n FV0=0

M_Ww

—0—

755 7é0
m=895,n FV0=0

770

-— MW

895 900 905

40.

39.

39.

38.

38.

37.

37.

42.

41.

41.

40.

40.

43.

42.

42.

41.

41.

43.

42.

42.

41.

41.

m=475, FV0=0

M_w

4é0 4é5
m=670,n FV0=0

—— MW

6%5 6é0
m=800,n FV0=0

—o— MW

i

865 8%0
m=935,n FV0=0

800

-o— MW

i

935 940 945




m=975, FV0=0 m=1040, FV0=0

—0— MW 430 4 —0— MW
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42.5 1
42.5 4

42.0 A
42.0 4

41.5 1
41.5 + 41.0 -

T T T T T T T T T
975 980 985 1040.0 1042.5 1045.0 1047.5 1050.0 1052. 5

m m
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P3-9

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:50 283 150.0 28. 875 = {B18006:50 Bz (GRFA{EEE
07:25 283 150.0 28. 875 = RRig007:25 Bzh (RAEESE)
08:45 283 150. 0 28. 875 = {RRiB008:45 Bz (RFAKEE)
09:35 283 150.0 28. 875 = {RRi8009:35 Bz (REAEEE)
10:15 283 150.0 28.875 F[ BRige10:15 Bz CGRAERESE)
10:50 283 150. 0 28. 875 = RRiB0@10:50 Bz (REAKEE)
11:20 283 150.0 28. 875 =l RiB011:20 B3 (REAEESE)
11:50 283 150.0 28. 875 S {Ri%e11:50 Bz (GRAERSE)
12:20 283 150.0 28. 875 =l RiB012:20 Bz (REAKEE)
12:50 283 150. 0 28. 875 E BRige12:50 Bz (GRAERESE)
13:20 283 150.0 28. 875 = RiB013:20 Bah (RAEESE)
13:50 283 150.0 28. 875 = RRiB013:50 B (RFAKESE)
14:20 283 150.0 28. 875 =l RiB014:20 B3 (RAEESE)
14:50 283 150.0 28. 875 5| {Ri%e14:50 B3 (RAERSE)
15:20 283 150.0 28. 875 =l RRiB015:20 B (REAEESE)
15:55 283 150.0 28. 875 = {RRiBe15:55 Bz (REAEEE)
16:35 283 150.0 28. 875 = {BRiB@16:35 B (GRFAERESE)
2it] 4811.0 (170%) 2550. 0 JEWHKEC: 2080.0, PH: 5.6

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEPRERL147.0 ml.

[o&REC 6035.0 K5, EiLF{KECAR&RER

#[E3KECE (2400.0 vs 6035.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=56 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
VI, V@RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2100 2100 03526
100 750 - 2000
50 - 1000
80 Warning: lcol [FVI',| "FVO’'] missing 60
0 - 64
( —_ i
200 = VI ne f
FRV maxM
150 e e e b e e e e e PR N | - -\t N -I--I--- ----------------------- 50
s i NERNREN
50 Y —n U B B T TR R e R I - 46
1.0 44
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
400 1 - : 7
Bylnit I@D60 01:55: ET=2002 Fg=2550.0 Ro=544.0 2000
300 A
200 L 2000
e L 1000
0 . E 0
4004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 G A 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G B | 3000
1
300 1 ByEt @56 19:10: ET=2043 Fg=2100.0 Ro=nan -
200 L 2000
e L 1000
408._, 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE HEE ES == E3 HEE Hi == E3 ES ES == E3 ES ES
B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G B | 3000
1
300 - . = — —
ByWoFv I@DGO 01:55: ET=2126 Fg=2550.0 Ro=528.0 \/
200 - | . _ [ 2000
1 \.\
1
i - 1000
100 : |
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
08 - g g fg i g g fg i g g i 5 A5 5 B {5 g 5 5 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
1500 A1 —_— 4

[ ] | _obs
1000 - —@— PPFD obs

500 -

80 A

60

RH
401 @ RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



51.

50.

50.

49.

49.

48.

48.

51.

51.

50.

50.

49.

49.

m=450, FV0=0 m=495, FVO0=0 m=535, FVO0=0
—— ME
50.5 - i -
52 49 1 51.0
50. 0 -
48 - 50. 5 A
50 49.5
47 - 1 50. 0 -
48 - 49.0
18 46 48.51 49.5 -
48.0 ¢
T T T T T T T T T T
600 800 1000 455 460 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FV0=0 m=710,m FV0=0
0 1 \_‘\' 51.5 - W E
—— 51 4 ——
5 - 51.0 -
01 i
50 50. 5
5 - 50. 0 -
0 1 49 - 49. 5 1
5 49.0
0 - 48 - 48.5
T T T T T T T T T
595 600 640 645 680 685 710 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
52 52.0 -
51 ' —o— —— ME
51. 5 - 52.01
51. '
°] 51.0 - 51.5 1
51.
? 50.5 - 51.0 -
0 50.
i 50. 0 - 50.5 -
5 50.
49.5 50. 0 -
0 49.
49. 0 - 49.5 1
T T 49 T T T T T T T
750 755 785 790 825 830 855 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
53.0 1 53.01
—e— ME ' —o— ME —o— ME —— MW
52.5 52.5 7 42 -
52 0 52.0 - o
51 5 51.5 -
38 -
5104 51.0 -
50 5 - 50. 5 36 -
890 895 900 930 935 940 980 985 990 600 800 1000



41.

41.

40.

40.

39.

39.

42.

42.

41.

41.

40.

40.

43.

43.

42.

42.

41.

41.

39 A

38 A

37 A

36

m=450, FV0=0

450 4%5 4é0
m=635,n FV0=0

—o— MW

o ($)] o ($)] o (3]
I I I I I I

T T
635 640 645

m=780,m FV0=0
5 —— MW
0
5 4
0
5
0
780 785 790
‘. m=930,m FV0=0

-— MW

o ($)1 o [$)] o
I I I I I
(331 o (&)1 o (331 o
I I I I I I

930 935 940

41.

40.

40.

39.

39.

38.

42.

41.

41.

40.

40.

39.

42.

42.

41.

41.

40.

40.

39.

43.

42.

42.

41.

41.

40.

m=495, FV0=0

—— MW
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